teach-learn given - sign (3) timelypractice.com

1. Complete this calculation.

You may use either diagram to help you.

(i)8-4=.. VVVV VYV VY
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2. Complete this calculation.

You may use either diagram to help you. *

() 9-6=.. VYV VIV Vv * 3%
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3. Complete this calculation.

You may use either diagram to help you.

(i) 6-2=.. VV VYV °
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4. Complete this calculation.

You may use either diagram to help you.

(1) 7-6=.. VV VYV VY

OO0 given - sign (3) SRS Learning Limited
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Answers

OO0 given - sign (3) SRS Learning Limited



